Sml««, 12/2 /. FINAL EXAM . SPRING 2003,  SOLUTIONS. I

MATH 152
. (n,8) = (-VZ,5%) = (3, )
r - : .
2 =7 (xiy) = (V2 sy V2 500 )= 00 A
% +)
g i,
=4 A
2. For a paer BYIN'S Z Ca (x—-a\) e 4 e fo"w"\*l) S 17\42'-

he e et e lx-al < R ¢ dveagn o lx-a | >R,

[ 2 R>0.
He e w0 wha x=a A(a&ve/y/, w.  x #a.
he it vt for all x.

R

So e .‘Mra!}'UI reulf s ﬁ; [

3 =
2 Al [Zx—t)/\
A= —_—
An
Rato fest. i Aas ! e ™ ‘
SR Bl I e [ SNSRI Bl
rao | Al (Za-l) Aot ) 0;‘ Bt 120

Se , the o (e ~ a1 = U, ;,,,/K:I/3
4 dvensr o x2 g,

Ll ol, cw\vf/)z\u = (\’3} )B_.:)



4 x= & siat ‘3-_—2,05,\,

- (%)Z* (2—)2 = Gint] =+ () =

. L 5 .
kr]«aﬁm x? %: o }E_’
2S

N

(Ths 5 o eﬂcrw_) ﬁﬁ
_S-Sl jv

> Zrand + 4rsin 0 =
X= F(CDOI ‘,3-—-(8;/\@ ) gx_+ 4—‘/5-:—| LZ_-"
&
3
pd
x
6' A | 2 ( ‘!)A \
w=x>  du=3H
A S L LI T by s (k%) v
B 4
' SI'A(K\-: Z (")A. )J’H’
A=0 (Zn+1)1 27”‘! 7
s
= 4‘()(\7—' ZK’SSI{/\(ZT‘-/YZ\ — ?K"' Z (_‘) ('Z’NK "":: 2K 2_ (-1) (7”?/\'14 )
- et 2= gt

o 5 .
= Z ('!\A- 27/\*. -ﬁ?’\-ﬂ- X4A—r§

—
A=0

(Zat1)




?ﬂ. o

= 53"
S . o
n=0 327
an
Ratys }‘6“ : N \”\/\—H\ ..\;n (Sx- )I\-f\ | I
f i el - \ )
A4 e M | 2la)+7 (Sx-2)
7
PR V¥ SV B P Al G U Sx-31
’Aﬁod Tats A>A Z4S/A
KN i \ ‘
‘ ISx-3) < { 0. 1< Sx-5<
So, o\‘r»JMH? B (}W B -
7, < ® < 4/s
S
(‘4 JM'/B&\V v x <%, x>4/§>
ok adpank:  [8x-3) = %
ol N (—Y\ o )
e =-): 5o B g
| V3 2 | A
W"\\}’CW ' Y k’/,\‘ ) At _ i A
W A4 /\//‘ A 3/\—(2
|
= — =
—A—I—r;:G 517 /3 70

: = S .
(Sa) = 1 - s e by posibive,  deqeawninny,
A=( < —
b lim b = 0.
A~y
{.

=9 cmve/abpj bey a’ﬁm%m» ®ried T8

Sa, wherval ‘/t (WV\VBM( 1 Z/S <a S4/§ g (z/s"éf/g]

2 1 vt (pepits, 5= <) = S o5 Mgt
Av%c‘ (FWW’{ P ) et 342 W




(}()(\ = Xé ,‘6 \ —_ 6 >
- . - - . Z ( )
N-4x) (I-4.)° 4 = )]
‘ )M‘»M\ﬂ‘(
—, <= 2’ (at1) -
rd _ :
()"'1) (_y‘ 5 ¢ g 4b< " (—y)
va M fov I} <! »
his  >eiey 15 oblmined by = Z (hr) - 47 0t valid for 14x] <]
A{ﬂ-w%ab\? fha W%\“- XAt e, &) <l
[ = ! "
:___, = Z ‘ﬂA ; VA:‘A w
8 o0 Iyl <]
f. x=e¥t W= @t t-T  geheem

o\) r= (1, -1).

Fict, i artopaiding  valne of pawneter f:-

4
x= ¥t = — 1=
l = )m"’ = 0 => "': O'T\’ WZ’({
4= wst+ +-T = : »0+0-T = \-T =
wh+ -1 = -1V so =T,
WA 2T 2T -7 = 14T «
Upe o sl ot n= l _
(AK -}:’ﬂ- /0‘£
TR
S (—5&&1""()) |
e }=T
.
B otk e (- ) )= () Gy »x/

(eq. of Ine thox (ah] v 3(0,um s (y-b)=pm. (- ).




b. Vcrh‘(a! "W\léf/\* fi‘/\f: @’)‘( a

wst =0 (™ 20 beawe <" # 0 fyalla)

T wn az wst
t = T,,37 ( UgtgeT. o4 )
e (X[B) = ( SM+ C(/)*‘f‘ ’P" (\\ = ( e—/ OTT/ 'n> = (e"lfz)
1/ O*WQ'W) = (¢ '/z\.
4a. = w28
/T’%] WF U a0 v
g() [ A (/lr RH [c{/,') =
— ’ﬁ/
L0 @20)do
_’0/4
K
, 3‘ = 2
=> (@ t¥= |rw@)
Z ) )
= = T V(40
(s 26F = 1+ (o3 [4D) “ S, 3 ( }
Z = 4 [84’ ’/73‘“40]'/"
4 X
= | B
(4=0)- (- 0)) = Ty = T

v



PES—

)

PR

—

ea c}( all [wp = 4 T,/S/

(.Ndk thal  eal ‘a,p hs  He satu ovea

ws (2(6+7))

be came (4 Krz )7/\4/‘141\7'-(

@20 @ —ud->i T = —ws20. >

—

G W) G-f-W/Z , T wy-r =
, B} =T 1
b Slpe o ot Ihe o @ve @20 at P=T
x:nm&l \,}-:: rSM@
=) 0}1 _ Z{(—‘é ~ %5”‘0 v resl 25420 . 5840 + 520 0
A - = — N
% %_g O - rsi 7‘ -25m20- @0 - 32050
r=(s79
Sl‘tr‘ N o b««oae} e af O=Ty :
e dl - zile vole
dx 9=, 20 My = 0 gy 0.
Co
L= gz Z E
4 (40} 4o = 60 2
) o) (330 46
F':ng
4 % 3
0 0
- 4
= m ,, 36 _ 6 0
]» /ZQ = \/'_':(;:.(e*e) = \/.;5(66 ,)



